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401 AIEBIZ 2 CHYI 1,599,748 908, 128 691,620
1,004,738
118,395
476,615

=z N H

0

=

NE=1:l 1,596,248 904,628 691,620
OMEEY MHSAHAKX HMHA(28,0002) 1,235,969
884,400

105,364
246,205
OAURTHESY &I (1,200ha) 71,999
65,449
1,965
4,585
OAURTHESY X4 (86ha) 30,098
23,287
2,043

= M W

= W

o
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20,364
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0
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206 M=l 2,170 0 2,170
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665
196
459
ot=x g8 7 (5M) 650
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= N H
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31,860
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OsdzUW Mgdl =1 & ¢
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25 2=
My MUALD BB
Cel MEBUSS EA U MEEE (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
“SHEl B, BOANEES (WA, 2507
S) DA, EH 100,000 = 307K 3,000
206 M = Hl 2,000 5,000 A 3,000
01 X2 H| 2,000 5,000 A 3,000
OEs=2 X, 22 N RY(2E, g2
s) 50,000 = 400H 2,000
401 AlEHIZL 2 0HY| 51,500 128,679 NTT7,179
2 25,000
o=t 7,500
Al 19,000
01 Al&H| 50,000 126,679 ANT6,679
OS&Z =4 L HHIAFZ (1.8km) 50,000
2 25,000
o 7,500
Al 17,500
03 Al& 201 Y| 1,500 2,000 A500
OEAZ FHIAIY AlIE=20Y] 1,500
NEE=XE P LIE L] 200,586 104,039 96,547
101 @124 H| 26,650 25,579 1,071
04 JI2ZtHIZ2 2 NEE S 26,650 25,579 1,071
O/ A At S A 2|3 ol 24,009
-3 41,6803 ~ 3¥ * 160Y 20,007
-S54 LE 41,680 * 3% x 32¢ 4,002
Od4li82g = 24,009,000 *11% 2,641
201 LEr2 Y| 12,936 17,460 ~4,524
01 AFR 2t 2| bl 6,636 9,660 N 3,024
ot =22 22l 22 HA 30,0008 * 304 900
Ooutel=22 MY Dl &4 RAEA=SE el
3,6002 * 800& 2,880
Ot 22 SIEA ARE 22 (3HEX, 2HekA
s) 238,000& » 123] 2,856
02 2=2=24%4| 6,300 7,800 A 1,500
Ol A At =2 23| 6,300
—AEe2A M) 350,000& » 12€ 4,200
— Ao AN MEI2H AIDAZE 22 2,100
401 Al HI L 2 THHI 161,000 61,000 100,000
01 Al& H| 160,000 60,000 100,000
Odl &t AtESE SH, HOAAIE &X &b 20,000
OMA MESE St B, | 20,000
20tAF & F=XE AKX 120,000
03 Al&E 201 Y| 1,000 1,000 0
Ot 22 HYIAIY Al 204 1,000
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B HHLAAY (BASTD)
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HH2IZH(SE=X1) 618,936
ol 2 gl 533,439
ol 2A| 533,439
101 @1 A Hl 533,439
03 RIHAZ 2T E+ 533,439
OZXZIIA 212Y 128,499
-Jles 1,382,000& » 4H » 128 66,336
-J|Z=g 1,382,000 » 4% * 43| 22,112
PN =S 7,860 * BAIZt » 4H + 7Y 1,761
-gaaesy
11,7903 = BAI2H « 4% « 123 3,396
S EEEEES-
11,790  10AI2F » 4 « 128 5,660
-sx3 370,000& = 43| = 19 1,480
-S4 130,000& * 49% » 123 6,240
-JE4 Y EFALX HBEF O]
100,000& * 4% » 123 4,800
- &%t
(1,382,000& * 0.6) * 23] * 4H 6,634
—usE2=x4| 130,000& » 4H » 12& 6,240
-IEE 80,000& = 4% » 123 3,840
OxZdzel&d o2 322,609
-JlE= 1,401,000& = 109 » 128 168,120
-JZ=g 1,401,000& » 10% * 43 56,040
PN = 7,9483 * BAIZ2H x 108 » 7L 4,451
-5222xE
11,930 * 6AI2t = 10E = 128 8,590
A2t 224
11,930 = 10AI2t = 10E = 128 14,316
D= 370,000 = 43 = 1H 1,480
-S4 130,000& = 108 » 128 15,600
-2 & ZFANEX EFE=ZF 0t
100,000& = 108 » 12&8 12,000
- @3 Z S0l
(1,401,000& = 0.6) * 23 * 10¥ 16,812
- wWsSE x4l 130,000& » 1094 » 128 15,600
-tE=g 80,000& = 10¥ = 123 9,600
OAXSd SA=r2eld URY 39,835
-Jl2= 1,790,000& » 1¥ 128 21,480
-Jlz=g 1,790,000 » 1H * 43| 7,160
S PNESS = 9,809& = BAIZt = 1&H * 7L 550
- 522
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chel: ol gyl CEEEED
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ENFEECEN=
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- g4l 130,000& » 1H » 128 1,560
- g Z St
(1,790,000& * 0.6) * 23] * 1H 2,148
—us2 x4l 130,000& » 1H 128 1,560
-JtE 80,000& = 1& » 123 960
o1l =l 3,640
—-ge= 200,000 * 149 2,800
- & st 50,000& = 149Y 700
- 22X 10,000& * 14H 140
o=l 7,000& = 54l « 159 «123 6,300
OXlZ Hl 400
ORJNHAT 4HEES  490,928,000& * 6% 29,456
O4tgotd el =X 1=
180,000& * 15%H * 13 2,700
Jl2&dl 85,497 103,750 A 18,253
JlE2zl 85,497 103,750 A 18,253
201 Let2d] 19,465 23,950 A 4,485
01 At 22l I 19,465 23,950 A4,485
OJIEAe &l 12,150
OO0kt & SL2ZRXL S 4l 7,315
202 o4dl 56,400 74,400 A 18,000
01 = LH o4 1l 54,000 68,640 A 14,640
Ounss IS RFAH|
180,000& » 259 » 128 54,000
02 N 2,400 5,760 A 3,360
O2d&d AN 200,000& = 1¥ = 123 2,400
203 &R = b 4,100 4,200 A~ 100
04 BENSSHRF=EHI 4,100 4,200 A 100
ORNSY dRETY| 4,100
204 AR A H| 1,200 1,200 0
01 MR A 1,200 1,200 0
OXMg PR AHI
100,000& » 1H 128 1,200
405 XHAHE SH| 4,332 0 4,332
01 AL ESFH S 4,332 0 4,332
O=sA ¢ 4,332,000& = 1CH 4,332
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